4MO05B Pupil Tasks Plan couk

Master Standard Partitioning (4 digits) B

Fluency 1 Fluency 2

Complete the stem sentences. Combine using the part-whole models and equations.

+ +8=
1,000 | 2,000 | 3,000 | 4,000 | 5,000 | 6,000 O 8,000 | 9,000 800 +9,000+8
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, , and combine to make @ @ 6 G
000> 20 2 o+

and combine to make

Fluency 3

teaching slides are available with a subscription.

Reasoning, problem solving, answers and

Complete the stem sentences and draw the counters. . . .
Partition using the part-whole models and equations.

4,289 partitions into , , and ‘ ‘ ‘ ‘

1,000 [ 2,000 | 3,000 | 4,000 | 5,000 | 6,000 | 7,000 | 8,000 | 9,000

100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900
10 20 30 40 50 60 70 80 90 @

1 2 3 4 5 6 7 8 9

+ + =2,703

5,180 partitions into ) and
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Master Standard Partitioning (4 digits) B

Fluency 4 Fluency 6

Combine using the part-whole models and equations. Combine using the equations.

= © () SO0 S 40> B
o ‘@@‘ 70, [E000) 200> B

70+ 6,000+200+1=__

3,510 + =3514 + 62 =4062 + 2,306 = 2,396 - .

Fluency 5 +400 + 5=1405

Partition using the part-whole models and equations. -

6,058 @ ‘ 7.907 + =7.957
e @ @

1,870 - =1,800 6,058-_ = 8112 - =8,012 3 O

teaching slides are available with a subscription.

Reasoning, problem solving, answers and

+30 = 8,030
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Master Standard Partitioning (4 digits) B

Fluency 7 Fluency 8
Partition using the equations. Fill in the missing numbers. é
o
7435 -_ =435 i g
(68 s[@) +
7435-_ =7430 g z
_ 3
Pt =098 7435-____=7035 8
o2
2 =
3 S
+ + + =9,529 GE’ o
Fluency 9 5 o
° g
- Fill in the missing numbers. " %
o
+ + =4032 8,000+500+7=___ § %
O
3,621 - 20 = LR
6,247 - = 6,207 7,958 - =7,058
+ + =1,023
B0 sor-een
3980 - =980 2424 - 2,000 =
+ =9,090
9,105 - =9,005
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